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Which of the following 5
recognizes different an t" igen {an‘{ﬁ:mdv diversity)?

(1) Somatic hypermutation

2) Alternative splicing
3} V(D) joining
4) Alternative transcription termination
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Which of the following statements concerning the constitutive heterochr

Which of the following statements concerning the telomere:
(1) Hairpin DNA configurations
(2) Repeated sequence

\

(3) Template-free sequence additions

&
(3)
{4
2), (4
(3), (4)
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2, (4)
(3),4)

(1, (4). (3
(3), (43, (5)
(1), 3), 4, 5)
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If DNA polymerase IIT could add bases in the 3't0 3

be no need for

DNA ligase.

Okazaki fragments.
Helicase.

Gyrase (topoisomerase).
DNA polymerase 1L

Eukaryotic mRNA transcription medifications include

intron assembly.

5' capping on 2 terminal 7-methylguanosine re:

polyadenylation on 5' end.
exon splicing.
none of above.

Most of the histones are well conserved from one organism to another, which histone

the greatest variation among tissues and species’

Hi
HZA
H2B
H3
H4

One of the reasons for histone heterogene
methionine.

leucine and isoleucine.

cysteine.

serine.

ity is due to

direction in Escheri

» phosphorylatio

v
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Histone acetylation in
cytoplasim,

wcleus.

e

hoth cytoplasm and nucleus.
cell membrane.

The major difference between the splicing mechanisms of splicessomal introns and group I
introns in the first step of splicing is that

the former (spliceosomal introns) uses an €XOZENOUS nuclectide.
the former uses an exon nucleotide in the last step of splicing.
the latter uses a nucleotide that is integral to the intron itself.

the latter (group | introns) uses an exX0genoUSs M icleotide.

x

The secondary structures of the splicing complexes involving spliceosomal syste
similar to

t-RNA introns.

group 1 introns.

group 1I introns.

group HI introns.

Group 1 introns from Tetrahymena (Protozes) 26 (RNA precursor can he removed 1 Viiro
with

no help from protein

no help from extra nucleotide

extra ATP energy

no help from MgClI2.

RNA-induced silencing complex (RISC) does not in¢ tude
Dicer.

Argonaute.

nuclease.

RNA polymerase.

none of above.

The splicing signals in nuclea mRNA are commo
intron on 5’ end are always

AA.

AG.

GU.

GG.

Uu.
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AG.
GU.
GG
Uu.

Trypanosome (Parast ic flagellated protozoa) mRY iAs are formed by what kind of
hetween a short },@a{” er exon and any one of many independent coding exons.
cis-splicing

trans-splicing

self-splicing

lariat-splicing

dsRINA has to include what kind of sequences 10 cause RNA interference (RNAI.
exon regions

introns

promoter sequences

introns and pf'ﬁfrkbui‘l eguences

Which of the following is not part of th
amino-acyl tRNA

1F1, IF2, and IF3

mRINA

58 rRNA

Asrange the following steps of prokaryotic t translation initiation in correct order.
L Bindmg of IF1, IF2, and GTP to the 308 subunit.

- VI—Il—1IV—>V—l
1] — I — il — IV — V — VI
IV — 11— 11— V- I~

Mm—1—1—1IV—>VI—>V
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Which of
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elFZB

elF3

elF4G

ellFs

Which of the follow is correct?

The secondary RNA structur

Anti SD sequences appears at the 5
SD sequences locate downsiream o1

A

i
T iation tak thafrre 1] A rharaec with BMat 1o 6 SRR AL
Formylation takes place before fRNA charges with Met to form {(RINAT

Which of the following statements abou 1t antibiotics is WOT correct?
Chloraphenicol inhibits prokary /otic peptidyl iransierase

Fudic acid blocks the release of EF-1 from the ribosome
Streptomycin increases error rate of translation

Viomyecin inhibits trans slocation

Which of the followin
tmRNA
puromycin

suppressor tRNA
EF-Tu

Which of the following characteristics is s NOT a characteristic of a G protein?

Tt binds GMP for activation.

It has intrinsic GTPase activity.

Cleavage of bound GTP to GDP inactivates it.
It cycles among three cor nformational states.

Which of the following molecule:
I.RF1 II. R¥2

LI

I 10, I
LILIV
LI 0L IV




|
\
\
\
x

B

R wowe

o

U ow e

At e

C.

Which of the followi
arpinofransierase-

variable loop and D loop
T loop and variable loop
anticodon loop and T loop

acceptor stem and anticodon leop

Which of the following modi
Inosine

Dihydrouridine
Pseudo-uridine

Wyosine

n sy
an oo

Which of the following methods ¢
prokaryotic ribosome?

1. Fragment assay 1. NMR spectroscopy
111, X-Ray crystallography 1V, DNase footpriniing

11 e

Which statement about the Wobble base pairing is NO'T correct!

4

Allows one anticodon to recognize two OF IMote codons

Occurs between the 1st base of an anticodon and the 3rd base of a codon
Oceurs between the 3rd base of an anticodon nd the 1st base of a codon

Reduces the number of (RINAS required to translate the genetic code

Which of the following enzymes does NOT simply process reaction from 5710 379
Tag DNA polymerase
E. coli DNA polymerase
Reverse transcriptase
E. coli RNA polymerase
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What is a “bacterial
the biomedical
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